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Plot [['EcFgro’', 'EcFzExp', 'EcPltng’, 'ECdef’, 'water_ec’]]
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Plot Sensor and FgRec Data
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Plot [['I", "lopt’], ['T, "Topt’], ['RH, 'RHopt'], [ ETcl’, 'optETcl’], 'LAI', ’optEtRate’]
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Plot [['setVlI ETcl’, 'setVI fgRec', 'setVI VN, 'sl|SetVI' ]]
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Plot [['ECC:b—0’, 'FVIEC:r—o', 'ECl:g—0o']]
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Plot [['FVOEC:r-o’, 'ECO:g—o’]]

6000

5000 -

4000 -

3000

Warning: col |['FVOEC'] is missing

—o— ECO

10

20

30

40

50

60




Plot [['PHC:b—0’, 'FVIPH:r—o', 'PHl:g—0o']]
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Plot [['FVOPH:r-o’, 'PHO:g—o’]]
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P3-14

BflE) | GEBRTK (#)) | ERE(EA/) | EREE(B/R) | XS R

06:30 283 150.0 2.888 BS| FMHA@06:30 KENFEF (RAMEESE)
07:10 283 150.0 2. 888 RS FhHA@O7:10 KEIEF (KAHEER)
08:25 283 150.0 2.888 BE| ThHA@08:25 KRENFEF (RAfEREEE)
09:25 283 150.0 2.888 Bg| FiHHe09:25 RHEEEF (KEERE)
10:10 283 150.0 2. 888 RS ThHA@10:10 KENFEF CRAFEER)
10:50 283 150.0 2.888 BE| THR@10:50 KENFEF (RAMEREESE)
11:30 283 150.0 2.888 RS FiHRe11:30 REBFE (REAERSR)
12:10 283 150.0 2.888 RS FhHAe12:10 kENIEF CGRAFEER)
12:50 283 150.0 2. 888 RS FiHRe12:50 KREEFE (GREAERSE)
13:30 283 150.0 2.888 RS FiHRe13:30 REHEBF (KRAERSE)
14:10 283 150.0 2.888 BS| THA@14:10 KRENFEF (RAFESE)
14:50 283 150.0 2. 888 RS FiHAe14:50 KREEF GREAERS)
15:35 283 150.0 2.888 RS FiHfe15:35 REHBFE (REAERSR)
16:25 283 150.0 2.888 BS| TMHA@16:25 KRENFEF (RAEESE)
23t 3962.0 (14%) 2100.0 3 PUHKEC: 2080.0, PH: 5.8

FEIKRECE (1780.0 vs 3447.0) 15
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P3-14

FyiE) | EBIAT (FD) | EME (EA/4R) | BEREE(B/R) | XS ERE
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=23t 3600.0 (12%) 1800. 0 3ESHKEC: 2080.0, PH: 5.8
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P3-14

RfiE) [ EBIATK (FD) | ERE (EH/) | BEBREE (B/R) |[XKS EFF

07:50 288 150.0 2. 888 RS {Ri&@07:50 Fz (REERHE)
08:30 288 150.0 2.888 A5 {Ri%@08:30 Fzf (KRFFEEE)
09:30 288 150.0 2.888 RS {RRi8&e09:30 Fz (REAEHE)
10:20 288 150.0 2.888 RS Ri8@10:20 Fzy (REEHE)
11:15 288 150.0 2.888 S| Rige11:15 Fzi (REERSR)
12:15 288 150.0 2.888 B Rige12:15 Fzh (REAERSE)
12:55 288 150.0 2.888 S| Rige12:55 Fz (REAEHE)
13:30 288 150.0 2.888 |Z=| {Ri&e13:30 Fz (KEAEZHE)
14:05 288 150.0 2.888 [Z=| 1Rige14:05 Fzh (REEESER)
14:40 288 150.0 2.888 |Z=| {Rige14:40 Fz1 (KREEZHE)
15:20 288 150.0 2.888 |Z=| {Ri&e15:20 Fz1 (KEEZEHE)
16:05 288 150.0 2.888 [Z=| 1BRige16:05 Fzh (REEESE)
17:15 288 150.0 2.888 |Z=| {Ri&e17:15 Fz1 (REZEHE)
2it|3744.0 (13%) 1950. 0 3Z i KEC: 2080.0, PH: 5.7

TERRHLER 2 STEEARTF (195.0 :

ZRIAEBRIERE159. 0 ml.

HEEHECE (1907.0 vs 3783.0) 5

159.0), FAlEEHT—@ L XA HS




P3-14_0, Day=63 (2025-06—02)

150- ------------------------------------------------------------------------------------- ._3000
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Warning: lcol ["WC1',  "WC2'] missing
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Warning: lcol ['ECB’,| 'ECC’'] missing
0.0
o | OPtPHO=6.5, setPHB=5.7 ¢
0.6 -
0.4 4
0.2 A
Warning: lcol ['PHB’,| 'PHC’'] missing
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P3-14

RyiE) | EBIATK (FD) | ERE (EA/4) | EBREE (B/R) [XKS EFRF

08:55 288 150.0 2.888 Z| {Ri%e08:55 Bz (KREAEHE)
09:55 288 150.0 2.888 |Z=| {Ri%e09:55 Bz (KREEHSE)
10:55 288 150.0 2.888 [Z=| 1Ri%e10:55 Bzh (REEESE)
11:55 288 150.0 2.888 PH| {Rig@11:55 Bz CGRAERSE)
13:20 288 150.0 2. 888 FB| {Ri&@13:20 B (FRAFERSE)
14:50 288 150.0 2.888 FA| {Ri&e14:50 Bz CGRAEEEE)
16:20 288 150.0 2.888 FA| {Ri&@16:20 Bz (GRAERE)
23t]2016.0 (70%) 1050. 0 32 HKEC: 2080.0, PH: 5.6

MERRNER 2 5STREAERSE (187.0 : 153.0), AJEEHF—RZ XA45
ZRIA L PRIERE153. 0 ml.
#[ERECZE (2007. 0 vs 4367.0) iH 5



FRV (ml plant-1)

ET (ml/hr/plant) ET (ml/hr/plant)

ET (ml/hr/plant)

P3-14_0, Day=62 (2025-06—01)

LR S e i it S
VI, VO*¥RV, ET - VI, V0, FVI, FVO, FRV, ad jFRV, ET L 1500
1200
100
00 935 L
770 pregee[ 100
50 1 %0 00 - 500

Warning: lcol [FVI',| "FVO’'] missing

Warning: lcol ["WC1',  "WC2'] missing

optEC0=2600. 0, setECB=2080.0

Warning: lcol ['ECB’,| 'ECC’'] missing

optPH0=6. 5, setPHB=5.6

Warning: lcol ['PHB’,| 'PHC’'] missing
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P3-14

BYIE) | BRI (F)) | s (EAH/ER) | BREE (B/R) | XK ERR

06:35 283 150.0 2.888 FE| 1BRi%@06:35 B (FkAERSE)
07:35 283 150.0 2. 888 FE| 1BRi%@07:35 Bz (kABERSE)
08:35 283 150.0 2.888 FA| {Ri&@08:35 Bzl (kA{EEEE)
09:35 283 150.0 2.888 FA| {RRi&@09:35 Bz (RAIERE)
10:35 283 150.0 2. 888 FE| 1BRi%@10:35 Bz (kAERSE)
11:40 283 150.0 2.888 FA| {Ri&e11:40 Bz CGRBEEEE)
13:30 283 150.0 2.888 |XM| {Ri&e13:30 Bzh (KREERSE)
15:25 283 150.0 2.888 |/hili| 1Rige15:25 Bzh (RAEREE)
2it]2264.0 (8%) 1200.0 3233 %EC: 2080.0, PH: 5.6

TERRHER 2 STEEART (187.0 :

ZRIA L PRIERE153. 0 ml.
HEEIKECE (2087.0 vs 4846.0) i35

153.0), AlEEHT—@ % XA HS




FRV (ml plant-1)

ET (ml/hr/plant) ET (ml/hr/plant)

ET (ml/hr/plant)

P3-14_0, Day=61 (2025-05-31)
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Warning: lcol [FVI',| "FVO’'] missing

Warning: lcol ["WC1',  "WC2'] missing

optEC0=2600. 0, setECB=2080.0

Warning: lcol ['ECB’,| 'ECC’'] missing

optPH0=6. 5, setPHB=5.6

Warning: lcol ['PHB’,| 'PHC’'] missing
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